
ENRICHMENT ACTIVITY 

How much does each pay the fruitseller? Do en book. 

TOTAL 
AMOUNT 

(120 per kg) ( 60 per kg) ( 24 per kg) 

buys 0 150 4 30 60320| A+)2 
2 kg; 2 6 4 kg; 30 3 3 kg: . O 

2 kg 20 
buys 

3 kg;78 63 
2438 4 kg buys 



EXERCISE 10.3 

A. Colour one half of the collection. Do n book 
Colour 

It if you 

get all your 

Sums right. 

of 18 
182 9 

2 itiit!iiif 
2221 

102S 

B. Colour one-third of the collection. ot beo K 

1.of 12 
12+3 4 

2. 

G3 22 
161) 



C. Colour one-fourth of the collection. Do in book 

1. of8 

8+4 2 

ITTTTTT 

12 

ove 

1.of 200+E14. of 30 20217 of l6 16 S 
bo tn Cop 

2.of 20= 204 S5. of 32 - 324=8 of 40 40410 

(162) 3 of 18 = 1366 of 27 2+3. of 15 = IS35 
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